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Fonction	
  ou	
  
Molécule	
  

Fonction	
  oxydée	
   Oxydant	
  ou	
  
Réducteur	
  

Remarques	
  

	
   	
  

RuO4	
   RuO4	
  obtenu	
  par	
  oxydation	
  de	
  
RuCl3	
  (2%)	
  par	
  le	
  NaIO4	
  (4	
  éq)	
  

	
   	
  
RuO4	
   RuO4	
  obtenu	
  par	
  oxydation	
  de	
  

RuCl3	
  (2%)	
  par	
  le	
  NaIO4	
  (4	
  éq)	
  

	
  
	
  

RuO4	
   RuO4	
  obtenu	
  par	
  oxydation	
  de	
  
RuCl3	
  (2%)	
  par	
  le	
  NaIO4	
  (4	
  éq)	
  

	
  
	
  

RuO4	
   RuO4	
  obtenu	
  par	
  oxydation	
  de	
  
RuCl3	
  (2%)	
  par	
  le	
  NaIO4	
  (4	
  éq)	
  

	
   	
  

RuO4	
   RuO4	
  obtenu	
  par	
  oxydation	
  de	
  
RuCl3	
  (2%)	
  par	
  le	
  NaIO4	
  (4	
  éq)	
  

	
   	
  
HIO4	
  ou	
  Pb(OAc)4	
  ou	
  
KMnO4	
  

Voir	
  mécanisme	
  

	
   	
  
Pb(OAc)4	
   Pb(OAc)4	
  :	
  Diols	
  cis	
  et	
  trans	
  mais	
  

HIO4	
  (ou	
  NaIO4)	
  :	
  seuls	
  les	
  diols	
  cis	
  

	
   	
  
OsO4	
  /	
  HIO4	
   OsO4	
  (2%)	
  oxyde	
  la	
  double	
  en	
  diol	
  

puis	
  en	
  cétones	
  par	
  HIO4	
  (4eq)	
  

	
   	
  

OsO4	
  /	
  NaIO4	
   OsO4	
  cat.	
  	
  et	
  NaIO4	
  stoech	
  
	
  

	
   	
  
OsO4	
  /	
  NMO	
   OsO4	
  cat.	
  

NMO	
  =	
  N-­‐méthyl	
  morpholine	
  N-­‐
oxyde	
  

	
   	
  
NaIO4	
  /	
  KMnO4	
   KMnO4	
  stoech	
  et	
  NaIO4	
  cat	
  	
  

	
   (ozonide)	
  

O3	
  (ozone)	
   Réaction	
  à	
  -­‐78°C	
  et	
  on	
  barbote	
  O2	
  
avec	
  O3	
  (à	
  3%	
  ou	
  plus)	
  jusqu’à	
  la	
  
formation	
  de	
  l’ozonide	
  

	
   	
  

LiAlH4	
  ou	
  NABH4	
  ou	
  H2	
  
ou	
  BH3	
  

Réducteurs	
  puissants	
  

	
   	
  

Zn/AcOH	
  ou	
  DMS	
  
(diméthylsulfide)	
  

Réducteurs	
  doux	
  

	
   	
  

H2O2	
  ou	
  RCO3H	
   Oxydation	
  

	
   	
  

NH3	
  	
   -­‐-­‐	
  

	
   	
  

R4-­‐OH	
  /	
  HCl	
  anhydre	
   -­‐-­‐	
  

	
  ou	
   	
   	
  

KMnO4	
  /	
  H2SO4	
   Peu	
  importe	
  la	
  chaîne	
  aliphatique,	
  
elle	
  est	
  coupée	
  pour	
  donner	
  l'acide	
  
benzoïque.	
  

	
   	
  

CrO2Cl2	
   Un	
  oxydant	
  plus	
  doux	
  à	
  aldéhyde	
  

	
   	
  

AgNO3/Na2S2O8/NaOH	
   Amine	
  primaire	
  oxydé	
  en	
  imine	
  
par	
  Ag2+	
  puis	
  hydrolysé	
  par	
  	
  NaOH	
  
en	
  carbonyle	
  correspondant.	
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H2O2	
   Oxydation	
  du	
  thioéther	
  en	
  
sulfoxyde	
  	
  
	
  

	
   	
  

KMnO4	
   Oxydation	
  du	
  sulfoxyde	
  en	
  sulfone	
  
	
  

	
   	
  

mCPBA	
   Réaction	
  de	
  Baeyer-­‐Villiger	
  :	
  le	
  
groupement	
  le	
  plus	
  riche	
  en	
  
électrons	
  qui	
  migre	
  

	
   	
   H2O2	
   Réaction	
  radicalaire:	
  générer	
  des	
  
radicaux	
  RS°	
  pour	
  donner	
  au	
  
disulfure	
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